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CORPORATE FINANCE
Learning Outcome 3: ACTIVITY 5  
Dividend valuation model and Gordon’s Growth model

Gordon's (1959) growth model assumes, for simplicity, that dividends will grow at a constant rate. Although this assumption is, in itself, unrealistic, it does help to address the fundamental weakness of the DVM. Also, it results in a dramatic simplification of the formula for the DVM, to:
 = 
Where 	= current price of share I, = dividend expected in year 1 on share I, 	) = expected return on share i, given its risk, g = expected constant annual growth rate of share I's dividend.

[bookmark: _GoBack]Individually, and then in pairs
In April 2017, company X has a share pcice of 953p and a 2017 dividend of 35.5p. Assuming a growth rate g of 7.1%, calculate the required rate of return on company X’s equity using Gordon’s Growth Model.
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